@ Kiosk PC Cabinet
ARMENDUS Kabinli Pc Kiosk Sistemi

SUPPORT ARM & ENCLOSURE SYSTEMS.

“URKive - cus TS EN 50085-1
LISTED TS EN IEC 61439-1

WARRANTY

ARKPCO01-02

Kurulum Talimati ( Assembly Instruction)

Taban bilesenlerinden sag ayak toplamda 4 adet
M8x20 civata ile sabitlenir.

(The base is assembled with the feet with Total of 4 M8*20
Bolts on the right.)

M8X20 (x4)

www.armendus.com

Connection Elements }(\4
Baglanti Elemanlari

Mé6x 16

8x M M8 x 20
ox

28 (u—— Mex 16

16x E M8 Nut

3x @:Da 3.9x13

Ayni sekilde sol ayak toplamda 4 adet
M8x20 civata ile sabitlenir.

(The base is assembled with the feet with total of
4 M8*20 Bolts on the left)

M8X20 (x4)



Kablo gegcisini saglamak i¢in bulunan sac
parcanin montaji ya da demontaji Mé
civatalarla saglanir.

(The sheet metal part for cable passage is assembled
or disassembled with M6 bolts.)

M6X16 (x6)

(Montaijli génderilir.)
(Shipped assembled.)

4 Adet tekerlek halihazirda Gzerinde bulunan
vidalar ile d6kim ayaga montaijlanir.

(4 wheels are mounted to the cast leg by screws
provided.)

(Tekerler montaili génderilir)
(Wheels are sent assembled.)

www.armendus.com

Kabin montajinin saglanabilmesi i¢in gerekli sac
parca ilk 6nce ayak kismina sabitlenir. Bunun igin 6
adet M8 civata ve somun kullanilir.

(In order to assemble the cabin, the necessary sheet
metal part is first fixed to the foot part. For this, 6
M8 bolts and nuts are used.)

M8X16 (x6)

M8 Somun (x6)

Kablo gegis saci istenen yerlerden kirilarak sekildeki
kablo gecisleri acilir.

Kablo gegisleri i¢in rakor baglanacak ise montaiji
gorseldeki gibi yapilir.

(The base and arm system is assembled using
standard fasteners and the covers are inserted info
their rounds.)

(A plastic coupling can be assembled as show in
photo below.)




7 Kabin ve ayak komplesi birbirine monte edilir. 8 Toz firgasi 3 adet akilli vida ile sabitlenir.

(The cabin and the foot assembly are mounted
together.)

(The dust brush is fixed with 3 tapping
screws.)

M8X16 (x10)

M8 Somun (x10) Akilli vida

kapaga yapigtirilir.

Dosyalik sekilde gorildigu gibi ¢ift tarafli bant ile
bosluga yerlestirilir.

1 0 Hava filtresi sekildeki gibi uygun olarak acilmis olan

(The file holder is glued to the cover with double-sided
tape as shown in the figure.)

Hava filtresinin tirnakl yapisi sayesinde baglanti
elemanlarina ihtiya¢ duymadan mekanik olarak
montaj gerceklestirilir.

(Sudden displacements or movement are prevented
due fo the lockable locks used.)

ift tarafh bant
¢ (The structure of the air filter mechanical assembly is

realized without the need of fasterns.)

Dosyalik a4 kagidi boyutlarina
uygun 6lcidedir.

(The file holder is suitable
for a4 paper sizes.)

www.armendus.com




Dayanikliigi arttinlmis ahsap tabla baglanti
elemanlan yardimiyla birlestirilir.

Ahsap masa tablasindaki insertler sayesinde
tablanin kabine tam tutunmasi saglanir.

(The upper wooden cover is assembled with
fasterners.)

(Due to the hole drilled on the wooden cover. The
assembly with the cabin will be fully connected and
provides a long durability.)

M8x16 (x12)

Kabin, gerekli ekipmanlarin ya da kontrol Unitelerinin
1 depolanmasina olanak saglar. Sekilde 6rnek olarak
kontrol Unitesi gosterilmistir.

(The cabinet allows the storage of necessary equip-
ment or control units. An example of a control unit is
shown in the figure.)

www.armendus.com

Urin standart génderimde sekildeki gibi komple
montaijli sekilde gonderilir.

(The product is sent fully assembled as shown in the
figure in standard shipping.)

Uygulanabilecek kablo gecisleri sekilde
gosterilmistir.

(Applicable cable crossings are shown in the figure.)




15

Kabin zerine montaj edilecek pano ya da kol grubu
sekildeki gibi montajlanir.

(The assembly of the support arm system to the
cabin is show as per the photo.)

Kapak (x4)

(Modil paket icerigine dahil)
(Shipped assembled.)

M8 (x6)

(Montaijli génderilir.)
(Shipped assembled.)

Uygulama érnekleri.

(Application examples.)

Urin standart génderimde sekildeki gibi komple
montaijli sekilde gonderilir.

(The product is sent fully assembled as shown in the
figure in standard shipping.)

[ o
4 =
‘ G ARKPCO01

ARM080.800 ile
uyumlu

e
ARKPCO02
ARM080.840 ile
uyumlu




=
o
Q
(2]
>
o
c
]
=
S
W




